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4713 x 10 =

2.586 x 100 =

10.758 x 100 =

6.765 x 10 =

5.809 x 10 =

1.199 x 100 =

2.245 x 100 =

4.276 x 1000 =

10.407 x 1000 =

7775 % 10 =

9.935 x 10 =

=N

6.389 x 10 =

6.426 x 10 =

1.629 x 10 =

2.29 x 100 =

8.14 x 100 =

2.811 x 1000 =

9.918 x 1000 =

7.923 x 1000 =

7.248 x 100 =
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4713 x 10 =47.13

2.586 x 100 = 258.6

10.758 x 100 = 1075.8

6.765 x 10 = 67.65

5.809 x 10 = 58.09

1.199 x 100 = 119.9

2.245 x 100 = 224.5

4.276 x 1000 = 4276

10.407 x 1000 = 10407

7775 x 10 = T77.75

=LA

9.935 x 10 = 99.35

6.389 x 10 = 63.89

6.426 x 10 = 64.26

1.629 x 10 = 16.29

2.29 x 100 = 229

8.14 x 100 = 814

2.811 x 1000 = 2811

9.918 x 1000 = 9918

7.923 x 1000 = 7923

7.248 x 100 = 724.8
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